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300& = 10,0000H 3,000

—HEHII=S AEIH ME 170& = 5,0000H 850
—MYIIEEEIYX EE22 ME

2,000,000& =* 33 6,000

— 22lot2A E§FHAN 2 80,000& * 504 4,000

ogxs 1,500
— =Y gHII2 2=&d X

500,000& = 3CH 1,500

02 352494l 10,440 10,440 0

O332=2 2 HA 9,440

— 28 X0l AFEE 10,0008 = 204 = 128 240

— CCTVEIIAIE & 20,000& = 30CH  12& 7,200

— & =2HIISE sl (A3 ) 2,000,000& 2,000

OA & &Hl S XYl 1,000

— 2 X0 XNE= 200,000& * 5CH 1,000

202 04 bl 5,400 5,400 0
01 20l tl 5,400 5,400 0

OMYIIEYED ERFZA
150,000 » 3Y x 12& 5,400

206 M= Hl 4,000 4,000 0

01 X2 bl 4,000 4,000 0
OSAZEMYIIS FRACEE L (ASAQ
=) 4,000,000& 4,000

301 YU BN 1,000 1,000 0

11 IIEtE A2 1,000 1,000 0
OMYIIEEED ADZAZ 1,000,000& 1,000

307 QI2t0| ™ 25,000 20,000 5,000

05 A2t E 2 25,000 20,000 5,000
OYXIHIIE HMelbl 250,000& = 100 25,000
401 Al B 2 0HHI 45,000 30,500 14,500
01 A& HI 45,000 30,500 14,500
O2AIZtHIet Ols & X 1,000,000& = 10CH 10,000
O2el X& 0l ZA2t0er & Xl
2,500,000& * 10CH 25,000
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SN HEAMD
M HIIE AHEs 2 Hel
SERE-F-EE- R CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMY Il 88€EI XY gt x4
10,000, 000& 10,000
EZ2EAT 722 246,900 36,900 210,000
201 Yete | 36,900 36,900 0
02 =224l 36,900 36,900 0
02323 % HAl 2,100
—E2EAN BENERE =S
50,000& = 1CH = 23] 100
—S2HAL BEHI(SSX S 30%)
2,000,000& 2,000
OXte & Byl 34,800
—E2FAX =2 ¥ |RFH 30,000,000& 30,000
— X Bels 7Y 400,000& » 12& 4,800
405 TtHebF S| 210,000 0 210,000
01 AL EFH S 210,000 0 210,000
OLHEAXE 2 210,000,000 = 1CH 210,000
MYl AT A 1,360,902 1,914,497 553,595
201 Let24d] 26,000 5,100 20,900
02 =24l 26,000 5,100 20,900
o332 % HMA 6,000
—RAXF=H GPS AIAE AIE=
15,0003 = 25CH = 122 4,500
—RIXFH GPSAIAE SRANE=
5,000& = 2504 = 12& 1,500
OXtE & Byl 20,000
—HAXY AR M 2,000,000& = 10CH 20,000
207 R4 2l 20,000 20,000 0
01 289 20,000 20,000 0
OdsM ) =8 - 28 - Ml Had JAJAE
HE2EA 20,000,000& 20,000
402 RI2HX=0| M 1,314,902 1,889,397 ABT74,495
02 BI2HCH & AF S HI 1,314,902 1,889,397 AB74,495
OQIZHTHE AL S HI 1,314,902
—MEHII=S =& . 28l 939,902
AP D] 416,740,000 416,740
INE=g=3— 159,077,000& 159,077
sSaSMe D] 364,085,000 364,085
—SAESFHIIZS Mlbl 375,000,000 375,000
TR E S 1,141,108 1,008,827 132,281
2 79,200
= 22,800
[ia 1,039,108




SN BEAMD
M HII=2 NS ¥ Hel
&?: UHFMHEE (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
MEHIZE 2t 727,114 730,309 A 3,195
= 45,000
s 682,114
101 @14 Hl 291,241 271,549 19,692
04 JIZHHZ2XNHEE S 291,241 271,549 19,692
OMEHIISHelE HEES =l 291,241
—-Jl=s 53,2403 * 14F =« 245¢ 182,614
FE5L2R+Y 53,2408 x 14Z » 86 64,101
—4AHEE = 246,714,160& * 0.103 25,412
— EIAZ3  53,240% * 302 * 14 * 312/365 19,114
201 LB-2E| 190,273 226,660 A 36,387
01 At 2t 2l 172,200 217,260 A 45,060
O e8| 28,200
— Mg Dl HHEZE A otlie 50,0003 = 200K 10,000
—NHEessd =380/ (PPEH) ¢
300& = 10,0000H 3,000
—MHEs L SAMYD 28 222 WH
200& = 15,0000H 3,000
—MEgsg Zels=Hg 2 100,000& * 604 6,000
— S SEN 2EEH Helx==x=2
2,000,000& = 5% * 12& 1,200
—SASMY D =017 2= Jl& ¥ HH =
& 5,000,000& 5,000
Oogxz 144,000
— ST ZZW I EFUI(RFID) Xtz
60,000& = 200CH = 12& 144,000
02 8323l 18,073 9,400 8,673
OA& &l Xl 18,073
— HHE&6otE KXzl
500,000& = 14015 7,000
— S ZH 2L EUI(RFID) KRXI2e2]
21,0003 = 5004 = 7JH& 8,673
—MEMY D BeloteA RAES
100,000& » 204 « 12& 2,400
202 oddl 5,400 5,400 0
01 = LH o4 1l 5,400 5,400 0
OMEHIIE Ml g2Fd
150,000& = 3H » 12& 5,400
303 Z& 3 19,700 19,700 0
01 X432 19,700 19,700 0
Oll s<gly =& ZAa
1,200,000& = 14015 16,800
OJfRs &8 Oel&d&yd JtRJ| L 2320t
S=SH M3 2,900
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Hu: MOl NAE Y Hel
&?: UHFMHEE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— i 1,000,000& * 1HSH 1,000
- = 500,000& » 2S5 1,000
—&d 300,000& * 3HSH™ 900
401 Al HIZ 2018 220,500 207,000 13,500
2 45,000
e 175,500
01 A& HI 220,500 207,000 13,500
OHHlY &dot&d &X 5,000,000& * 300 2 150,000
2 45,000
s 105,000
O3S ZZH 2L EUI(RFID) ¥ &II&H]
F=DN 2,500,000& = 9CH 22,500
O2ddt*eAa &X 48,000
— 2EdteA X2 44X
20,000,000 = 200 4 40,000
— &I &l 1,500,000& * 200 £ 3,000
— 225t 2A It X
2,500,000& * 200 £ 5,000
Hees =& Zd=3 378,200 224,724 153,476
= 34,200
< 22,800
= 321,200
301 et a3z 378,200 224,724 153,476
= 34,200
< 22,800
[ia 321,200
MIEE43 378,200 224,724 153,476
O2sHIIE28 2HEAHI(HEIE S)
376,200,000 376,200
= 34,200
< 22,800
[ia 319,200
O30/ =HEA SEX 7
4,000kg = 500& 2,000
Hass d8Ad &3 35,794 53,794 218,000
201 YEt2 | 35,794 53,794 18,000
01 At 22l 7,700 7,700 0
O+t 7,700
—HEgss AYSE(FL .2 U2 S)
0,000& = 5& = 43| 1,400
—MHEEs 2548 22,0008 * 1,300kg 2,600
—NEssE B2ZH(EN) 22
7,000& = 1004 700
—MHEEZ 2 20 =2
500,000& » 6= 3,000
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& As 25,200 * 50¥ * 13| 1,260
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SN HEAMD
M HHS AR (BN
chel: D= (#Z M) CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl=2Z (P94 43,032 43,032 0
=22l (&394 43,032 43,032 0
201 Let24d] 25,032 25,032 0
01 At 22/l 25,032 25,032 0
Ogt+gH| 8,400,000 8,400
Oz &l 6,000& = 21 + 11 » 123 16,632
202 44l 12,600 12,600 0
01 S LHOIYI 12,600 12,600 0
OJlegesd 50,000& * 21H = 12& 12,600
203 YR =&l 4,200 4,200 0
04 REN2ELRZ=TH 4,200 4,200 0
OFRN2IYSF=AHI 350,000& = 12& 4,200
204 AR A H| 1,200 1,200 0
01 ¥R 1,200 1,200 0
OXM g HH| 100,000& » 12&8 1,200
HRas(sdeldn) 675,339 1,065,346 390,007
WEAHHXKIS(2HZ 240 675,339 811,346 A 136,007
WRAHHX S (SZ A4 1) 675,339 811,346 A 136,007
701 JIEtSI HEHES 640,339 776,346 A 136,007
01 JIEtSIHEES 640,339 776,346 A 136,007
ON}EE=BBHIANLSLOZ +EHLSE
AH HES 420,339,000 420,339
OHNEEHHIE I HNAANE2Z =EHIHEELEF
H =3 160,000, 000& 160,000
OltS=gaeIINEeZ =Z2NHLdEEH A
£3 60,000,000& 60,000
702 JISHEES 35,000 35,000 0
(RPIE=RSE-<3= 35,000 35,000 0
OHJISHMeIAIE =8 FUAXFIS(&FH)
35,000, 000& 35,000




